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Il 3rqfl q6 * bra 6T l-i
There are intemal choices in O Nos. 1!, 12, 15' 17,29 ed 30
You have to attempt onlv one ot the alt'mativ's iD th*

s ilr €s 23 - ,r.rrET ro iE E .rr=I A

Da$' rhe galh ol Q No. 23 o! th€ graph paper'
€tlg - 3t

SACTIOT' - A

r. *ir(-2)-"i"r(l) 6Icr{nTddiis
. -'r,)

/ Find the varue or sec l-r'-tm [;J
2.. .* za.e =l?, -11"*,=l-J -E ]an*am

' tza'a-li -.1]-aa= -; -: 
'he.n'da

lrl
3 /nz A-lt t'll. a i l.'nrxar'ra'frt
//L))
' lrl

.I., Ir 2 3loda=l : | . tt'.n c"a t ,re L
Ji

,/ 4 ,/ fl6 qiiiis Jll +cos2, dx.

Find J,4;cos2, d,.

s ,r-r- .qlF. ac l:11 - al*" - 'F 
+l+",

/ ot t+/

Find gene,J solulion ol diT_ -*..r.''- :i j:l
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cjintu ? nql; + qftqM 6qrl, 1"=qI 2t3rk
ef<!i +'nq 61 6r.r d "iijl{r
If th. Easnitud.s oI redoE ; ed ; de 1 dd 2 resp€'tivelv dd

7. ? = r, tr'* tua.t" -e1" beseen thdse vectors

f,qq 61 ft{ qisEa fla 6iiqq
Fi;d the diEction cosines{f}dis

s T?inq{c 
" 

r,1- 'zir-oei*imsi'fat

2t+re6, x>O !>O-

" :;; ; * ,a s r ".... * ; 4 , q, e-n- r'. i -r
'" i1- - -#+.-;,ro-aqF-'IFEtf"

:',1f".i,'-;:"::.':"lt*, u: fr l":#: h""I LHS."fl t tr'?'-'

aRb€o-b,lafuqrsi,
11.

3lllql
' ' 1tl'gt^t' 2t-Jqk Lq:R-RrF{c9{irfirrcEfiqa-Erqi / li)= (

; /o g l,'. a o r r\l 41 9 o d 31 5'n alEqr

p.*" tr'.t ti" *r"t-" x a"r'""d on set zas a R be a - b is divisible

by 3, is an equilalence r'lation
OR

x lunruons 1.9 R ' R e' d' B'o as I rrl_ (r + I glx' 2(-f,'

the. rild f oe(xl,sor(x] dd gosls)

Find rhe distucc ofthe

2r+g<6, ,>O,1J>O

+l*zl1=o
9.

shN rhe reEion olf6ibrc

<I!g-<
sEclIOX - B

fu< 61Gc fu sTqc z 'i cftqfud ndq &

solution ulder ihe following constiailts :
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-r 31
kdRtfir 16 rLd-'j+6 -i=^ n

q{al

*"n"-",-'iE#
p,o," tr,.t z t--r 1+ ta-r 1 = tur-r

Jl t lllliJ

!!
t7

-1
Prove thEt td

ft .=l; i '.\ x o"-ro=o" d' a 7' 6M nrd dFq

<ua r" rL g *, ; -a'" *qt i)

, 
^=l 

; i ;]."" A2-rA =krr'in"n nnd rh"'aru' or tr'

l: z r1
lwh.; rr 's 

$e denlt} marrs ororder 3l

,q 6* ,=y3-r,t* -d 'or r rdonl {r q-{ q? illr -tifl Fr,f
'" ' ,-r+; r'c"r"-{* ri".lE 5 -ct+"o qlgr' +Tnor

qqal

\6 -i El kan e .m mcr r{ ' rcE o o: 'r 61 nR r I 
gq& dEr-a }

, / q!_nnr 4 qfTr.1i.'1rd 6Titi

ra. <+i! k Fnr
r-r ri! r.1

IEt= )2 qk "=r
lr+ '. c]< x'1

J 3-i' ir
show that the run.non Ilrl=1 . a ir

t 'r^
is continuous ai ' = I
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i'"r;;ln":;,t:s"'l;l;;t}:'n:'*' H"I;-.,,_, :
16 -rra'ri lr.5lr ,^!')=t -"-' '
--l ho,,r ri 6l nrd +lrnqr -.e, or tun.uor erren by

' 
"ir'a 

ttt. ut'*ltt" tu-Eum ddEmmxm '-'
/(il= r2 _4t+ I rn the inredal I l' 51

ffi E11.r( I --:-'

F*d I

J, i.

f.a. J

Find: JxEn-1xdx'

rs ati *inq l-:+:-
,a !s+e-t

i*e,-?
$*{=rnm*:araartnaatut$ ',/'+: Id

7'

Find the dea enclosed hY th€ e[Pse

inrav the fig]lre rn dsser book)

l;' :. o, * ,, . a a rur sa + *rv- nra #n!'

ra El.od diaaiE!) _r,bolas r1.4,
.* i" *, , 

"' 
r€son bounded b! Lhe two P:

dd !2 = ax lDras the fiSure 'n 
dswer book l
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dE "-);'),-rk-; - 121+i s'. -l'-r cnTa't+
."^

"+; h {t<rr. c,;iqa.nr ) 6r rnqfld6lrnq

ra=2r.2;+3t D -L--t+t sd . =3' - t a' such bat

, i, r.r,- i" o"*na,,,r. ro,ecr., 1 rr._n nnd -r.e 'ar" or '

/ A t4";1#;d# '-+,t, -<,'r.r.r, B' r. r.1' r'!
// crz.e.ttt

,re, or rhe tnanel. sho'e v.rlres * A I l l' I I

B 1.2. S lard Cl2, l, J l.,. 'ffi 
" 

-+d. ..e* r,r- "rq 6 qa,;'6r,I + rT F

t Is- qn 1-5\!,
aa{is 3r+5, > 15

5r+2! < l0
r>0,g>0.

By gEphicat merhod elve rhe Iouoeing lined pros.@ming problem

objectlve ru,.rion z = s:+9
constEints 3x+ 5y > l5

5x+2! 3t0
r>0-u>0.

rsrdrnqi * 16z {i,i&-* 61 4Ef 7 qrql rr4 r 'ilal
!62 6ii + Fnfn'iq cfirfdT 5rd +&r1 |

twice md the sum of rne nuDbers appering is
obs€ned to be 7. Find thc conditional probabilitv that the numb€r
:l lrss aDDeeed at leas!once.

"R,r. 
h -* ; io - rrr r l. r+ "n *- qr + rz+-r-

ql1iq r

lf a tai. coin is tossed 10 iiDes, iind tlt€ Probabilitv ot apPeatre

sEcTlor - c
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x., an u = xt + xa + ax + od i.d ff!t ara qltaq
1/

*"**'*,tt". ,r,-t"a11

Jroglr

s'Trd Eqtdllr lx2 + !2 ).lx - 2av dv = o i,i i6 nifnq I

qqal

3rdrd ect6rq l{*zv-',=oic*",r'*o) 6I lrs Etr€ Ed na

$t ,leqr({i16v=u,iq t=,

solle the difereDtiar equatio n lt2 + !2 \a' - z'! ag

EvaluaE Jtsll+cosx )d,.

Fird the Ptrtjcutar solution of

#+ 2scor* = aacosc x (r + o ), sr.d

ruufr i=1i*::)ti "r ri-ra*lr 'rt'
++{ fr;frdq 1". fln + 'r' '

OR
Find fte equahon of rhe Plre throxgh
pldes t + ! + z = I 8d 2' + J9 + 4z = '

rhe di1Ierential equatlon

v= o, vhcn i =;

30.

3lllzll

4 t+ u-, ..-"h 2r,3e-42' 5 + fairc^'€r n n-r
ad r-9+z=3 rr. ili4dn iE 6r qr1l6rur nra 4l1,?q

: ,,-r',,i'*,.i-t-,'8d; ' 2'. t- kt- t t2i

, -t2 ?*l- i r. urz l*r *:ir

rhe line oI interse.tion of the
sbich is Perpendiculd 10 the
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